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LABOUR WELFARE AND INDUSTRIAL RELATIONS/LABOUR AND
SOCIAL WELFARE/HUMAN RESOURCE MANAGEMENT

PAPER —-1II

Note : This paper contains fifty (50) multiple-choice questions, each question carrying
two (2) marks. Attempt all of them. The first five questions are to be answered after
reading the passage/case.

Please read the passage and answer the question raised at the end.
The four stages from motivation to demotivation.
1.  Motivated Ineffective :

When is an employee most motivated in the cycle of employment? When he joins
an organisation. Why? Because he wants to prove that by hiring him, the employer
made the right decision. He is motivated because he is new to the environment. He is
ineffective because he does not know what to do.

This is the stage when the employee is most open-minded, receptive and easy to
mould to the culture of the organisation. Training and orientation become imperative.
Unprofessional organisations have none or very poor orientation programmes. The
first day on the job, the supervisor shows the new employee his place of work and tells
him what to do and leaves. He teaches all the bad along with the good that he is doing.
The new employee quickly learns all the mistakes the supervisor is making because that
is what he has been taught. The organisation loses the opportunity to mould the
individual to the culture of that organization. Professional organisations on the other
hand, take special care to induct people into their organisation. If induction and
orientation are done well, many potential problems would not surface at all.

2. Motivated Effective :

This is the stage when the employee has learned what to do and does it with
drive and energy. He has learned the trade and it reflects in his performance. Then he
moves on to the next stage.

3. Demotivated Effective :

After sometime the motivation level goes down and the employee starts learning
the tricks of the trade. This is the stage when the employee is not motivated. He
continues doing just enough so that the employer has no reason to fire him but he is
really not motivated. This stage is detrimental to growth-most people in organisations
fall into this third stage. A motivated professional learns the trade and leaves the tricks
to cheats and crooks, but a demotivated employee starts sabotaging the company. His
performance is marginal. He makes fun of the good performers. He rejects new ideas
and spreads the negativity all around.

Our objective is to bring them back to the second stage of motivated effective
through training. An employee ought not to stay in the third stage too long; because
from here either they move back to the second stage, which is being motivated and
effective; or they move into the fourth stage.
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Demotivated Ineffective :

At this stage, the employer does not have much choice but to fire the employee,
which may be the most appropriate thing to do any way at this point.

Remember employers want the same thing as employees do. They want to succeed
and improve business and if employees help in this objective, then they make themselves
valuable and achieve their own success.

According to the author, why is an employee motivated yet ineffective?
A) As the initial hitch hinders him coming out openly and perform

B

~—

(
( As he/she feels lost and unknown in the new system

(C) As he/she is new to the organisation and does not know what to do.
(

D) None of the above

If the orientation and induction programme is not done well, the organisation:
A) Will have no impact
B

~—

(
( May make up with the employee in the long run

(C) Willlose the opportunity to mould the new employee into the organisation culture.
(

D) None of the above

When an employee continues doing just enough so that the employer has no reason to
fire him, while he/she has also learnt the tricks of the trade. This situation depicts
which of the following?

(A) Motivated effective (B) Demotivated Effective

(C) Motivated ineffective (D) Demotivated ineffective

Which of the following statements is true?
(A) A motivated professional learns the trade and leave the tricks to cheat and crooks.

(B) A demotivated professional learns the trade and leaves the tricks to cheat and
crooks.

(C) A motivated employee may be sabotaging the organisation with marginal
performance

(D) None of the above
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5.  According to the author whether and how can an employee be brought back to the
second stage :

(A) By warning him of consequences

(B) By imparting well designed training
(C) There is no way an employee who has reached the third stage
(D) None of the above
6.  The line organisation structure is also called as:
(A) Matrix Organisation (B) Scalar Organisation
(C) Functional Organisation (D) Horizontal Organisation

7.  Match the following;:

Group A Group B
(a) Grapewine (i)  Tool of control
(b)  Units of Direction (ii) Scientific Management
(c) Time and Motion Study (iii) Form of Communication
(d) Budget (iv) Management Principle
@ (® (0 ()
(A) () @) (@) @)
(B) @) @) @ @)
(© i) (@v) @) @
(D) (v) @) @ @)

8.  Assertion (A) : Communication is not merely transmission of information from one
person to another; but also correct interpretation and understanding
of the information.

Reason (R) : Wrong interpretation and lack of proper understanding of
communication may spoil the relationships.
(A) Both (A) and (R) are wrong (B) (A) is right but (R) is wrong
(C) Both (A) and (R) are right (D) (A) is wrong but (R) is right
9.  Which of the following is the techniques of the Human Resource Demand Forecasting?
(A) Ratio-Trend Analysis (B) Work-Study method
(C) Managerial Judgement (D) All of the above
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10. Match the following:

Group A Group B

(a) Point ranking method (i) Non-Analytical method of job-evaluation

(b) Paid holidays (i) Fringe benefits

() Provident fund (iii) Analytical method of job-evaluation

(d) Job grading method (iv) Perquisites
@ O © @

@A) (i) (v @

B i) () O )

© () O @) @)

D) O (v @) (i)

11. Match the year in which these Acts were promulgated.

Group A Group B

(a) The Payment of Wages Act (i 1948

(b) The Minimum Wages Act (i) 1976

(c) The Payment of Bonus Act (iii) 1936

(d) The Equal Remuneration Act (iv) 1965
@ © © @

@ O (v G G

® () (v O (i)

© @) O ) )

O () ) @) @)

12. Assertion (A) : Discipline is viewed as a condition within an organation whereby

employees know what is expected of them in terms of the
organisation’s rules, standards and policies and what the consequences
are of breaches.

Reason (R) : Orderly behavior is not a formal group desire.
(A) (A) is right, (R) is wrong (B) (A)is wrong, (R) is right
(C) Both (A) and (R) are wrong (D) Both (A) and (R) are right

13. Consider the following punishments :

J—5507

Warning or censure

Demotion

Fine and withholding of increments

Discharge and dismissal

Which of the above fall under the minor punishments?

(i) and (ii) (B) (i), (i) and (i)
(i) and (i) (D) (), (i) and (iv)
8
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14. The goal of HRD system is to develop the capabilities of each employee -
(A) as an individual and in relation to his or her present role

(B) in relation to his or her expected future role and dyadic relationship between
employee and his/her supervisor.

(C) Both (A) and (B)
(D) None of the above

15. An organisation secretly tries to lure the employee of another organisation. It is called:
(A) Consulting (B) Poaching
(C) Negotiating (D) Persuading

16. Arrange the following aspects of performance appraisal objectives in the proper

sequence :

(i)  to identify potential for promotion
(ii) to help develop individuals

(iii) to assess training needs

(iv) to review past performance

(v) to set targets for future performance
(vi) to audit the skills within an organisation
@) O @) v &) ) G

® O ) ) ) ) @)
© (v &) ) @) @ 0

D) (v @) () ) &) 0

17. Which of the following factors may be levelled as career anchor?
(A) Managerial competence (B) Creativity
(C) Functional competence (D) All the above

18. Which of the following would be the correct sequence of various phases in performance

coaching ?

(i) Report building (i) Exploration (i) Action Planning
(A) @) @) @ B) @) () (i)

© © @) (i) (D) (@) i) @
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19. Among the following, while is not the OD technique:
(A) Sensitivity training (B) M.B.O.
(C) Delphi Technique (D) Grid training and development

20. Match the following;:

Group A Group B
(a) Efficiency (i) Country club
(b) Motivation (i) Two factor theory
(c) Leadership (iii) Input output ratio
(d) Job satisfaction (iv) hierarchy of needs
@ (® (9 ()
(A) (@) @) (@) (@)
B) (@) @) @O ()
(© @) @Gv) @ (i)
(D) (@) (@) (v) ()

21. Activity-Interaction-Sentiments theory of group formation was proposed by:
(A) Theodore Newcomb (B) Kart Lewin
(C) Elton Mayo (D) George C. Homans

22. Find the right sequence of Kurt Lewin’s planned change
(A) Refreezing, Moving, Unfreezing

B) Moving, Refreezing, Unfreezing

Unfreezing, Moving, Refreezing

)
D) Unfreezing, Refreezing, Moving

23. Assertion (A) : Changes are effected in a planned manner after assessing the need
for them and working out the details of when and how they should
be carried out.

Reason (R) : Unplanned changes may lead to crisis situation.
(A) (A) is wrong, (R) is right (B) Both (A) & (R) are right
(C) (A) isright, (R) is wrong (D) Both (A) & (R) are wrong

J—5507 12



19. f=fafea § 4 0 o o & qoiie T2 §
(A) dHfafefad fHm (B) TH.S.3.
(C) <RI TR (D) Tire uf¥rerr ws faesmma
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Q) @) (@v) @ (i)

(D) @) @) (Gv) @)

21. TR - sewm dfefem ford ot v wrfe fraet &9 €1
(A)  TrRIER == (B) e oifad
(C) TeHA T (D) ISt &t g

22. e oifod gN wfquifed fenfsia aRads o1 9@t 31" daaa
(A)  hifsiT, e, SIS (B)  Hfoiw, ARG, SRS
(C) SIS, e, Aokt (D) SIS, RIS, Hfem
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24. Match the following:

Group A Group B
(a) Code of discipline (i) 20 Point economic programme
(b) Conventions (i)  Exit policy
(c) Workers Participation in management (iii) Indian Labour Conference
(d) Voluntary Retirement Scheme (iv) ILO
@@ (b) (o) (d)
(A) @ @) @) ()
(B) G) (@@ (v) (i)
(© @) (@Gv) @ (i)
(D) (v) (@) (@) ()

25. Assertion (A) : Industrial Relations have become more employer-dominated system
in India after the introduction of new economic policy.

Reason (R) : The State has resorted to more and more of laissez-faire policy and
the Unions have been marginalised.

(A) (A)is wrong, (R) is wrong (B) (A) is right, (R) is wrong

(©) (A)is wrong, (R) is right (D) (A) is right, (R) is right

26. Set the following in the order in which they occurred in the development of Indian
Industrial Relations system

(a) Tripartism

(b) Worker’s Participation in Management

(c) ‘Giri" approach

(d) Umbrella Legislation

(A) a C d b (B) b d a c
(S ¢ a b d (D) d b C a

27. The relationship between Registration and Recognition of any trade union is:
(A) Both are independent

(B) ‘Registration’ is a precondition to ‘Recognition’
(C) Recognition leads to Registration
(D) There is no relationship
28. According to the Trade Union Act, who among the following can form the trade union:
(A) Permanent employees (B) Temporary employees
(C) Contract Labour (D) All the above
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24.

25.

26.

27.

28.

(a)  STIemE Hfed () o\ I enfedew wrEE
(b) A (i) Tferte Hifd

(c) YAYT H N hi FHIRT (iii) R FfeR T

(d) T Yt e (iv) € Td

a)
i

( d)
(

(i)

(

(

b) (o)
ii)

iii)  (iv)

(
(i) (
(iv) (i)
@ (
(i) (

~"

(
(i
@

i

(

iii)  (iv)

i) (i)
i) (i)

iii)

S

iv)

AMURYT (A) : TR aTfele A & Word & A% Wa # A Hey stfae e guH

Ot <1 T ¥

T (R) : T A SAfYRITYe €9 § STeEIAT i Hifd STIATE § a1 FSigl §9 I T
- T €

(A) (A) 7 g, (R) 7ol § (B) (A)WEE, (R) T ©

(C) (A) 7 R, (R) T & (D) (A)¥& T, (R) &I &

URATT 27 =fiTeh Teiel Juredt o foed § 3ok =fed 8 o A § f=fafed 1 sqafted &

(a) FrusEre (b) TS H KR kI TSI
(c) ‘T’ 3urmE (d) Siser eI

(A) a C d b (B) b d a C

(S ¢ a b (D) d b c a

ot TR W o USITae qe1 A1 & S o Helel § 2
(A) TFI A R (B) ‘OSIEA’ WAl ot eEd ¥
(C) Tl & oG & Usiad Bl 2 | (D) I Gae & T |

oy T At & SER frafafaa § § $F TeIg 99 1 TS R Hehd §
(A) TR =R (B)  STEATT HH=RITOT
(C) % R fol¥ & HHR (D) W% Gt
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29. Match the following theories of Trade Unionism with their contributors.

30.

31.

32.

33.

34.

Group A Group B
(a) Class conflict theory (i) Robert Hoxie
(b)  Socialist Pattern theory (i) Mahatma Gandhi
(c)  Socio- Psychological context theory (iii) Sydeny and Beatrice Webb
(d) Trusteeship theory (iv) Karl Marx
@@ (b) (o) (d)
(A) @) @@ 3D ()
B) @ () (v) (i)
(© @v) (@) @ (i)
(D) @) (@Gv) @) ()

The inter - union code of conduct was adopted in the year:
(A) 1956 (B) 1957 (C) 1958 (D) 1959

Assertion (A) : Unions in India suffer from factionalism and inter union rivalries.
Reason (R) :
(A)

(©

The union democracy is strong enough to sustain these weaknesses.
(A) is right, (R) is wrong (B)
(D)

(A) is wrong (R) is right

(A) is wrong, (R) is wrong (A) is right, (R) is right

In which year the first Factories Act was enacted?

(A) 1948 (B) 1934 (C) 1881 (D) 1891

Which of the following statements is false ?

(A) “Worker” under the Factories Act, means a person employed directly or by or
through any agency (including a contractor) with or without the knowledge of

the Principal employer.

(B) “Adolescent’ under the Factories Act, means a person who has completed his
fourteenth year of age but not completed eighteenth year.

(C) Cleanliness and overcrowding come under the provision of health under the
Factories Act.
(D) Safety officers are to be appointed by every factory employing more than 1000

workers.

The Employee State Insurance Act was enacted due to the suggestion of which of the
following Committees ?

(A) Shiv Rao Committee (B)
(© (D)

Rege Committee

Adarkar Committee None of the above
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29.

30.

31.

32.

33.

34.

T Hefeg o frefafd fagial i S7eh geden ¥ FAferd s

(a)
(b)
(©)
(d)

[oW

>

)
B

(
(
(C
(

~—"

S

TH -

(A)

FA hiverae ford IR ECASE]

rorfere Yot forardt (i) T T

IRl - Hrgehicitsiehel sicsre forrd (i) et woe faufem o=
ESINERPRE (iv) Rt e

@@ () (© ()

i) (@) (i) (iv)

@) (D) (v) (i)

(v) (i) (@) (i)

(i) (v) () (@)

I Sl AF Theae (SFAT-Fo ST=R0 |igd 1) &l ford I ST9=m=n T |

1956 (B) 1957 (C) 1958 (D) 1959

ARTRAT (A) :  TRA H HogX T T[SITST d1 iR - T Ufagfgan ¥ ufad

HIT (R) : Y WA 37 HHSITAI bl Te i | v &9 H 9 T

(A) (A) §& T, (R) oA © (B) (A) T T, (R) W&t &

(C) (A) 7o ¥, (R) TToid ® (D) (A) W& E (R) W T

v Thadis U foh o oifd gam o

(A) 1948 (B) 1934 (C) 1881 (D) 1891
frefafaa § 9 o9 @1 awed 98 T 8?2

(A) TS T & sfaria g &1 1ol §, 9o e &t St § a1 S form @i

reran fordt ToiEt (ST 396 e oft wnfiel ©) o || | | W W T oA |

el T | ‘TR’ o1 o1ef U =afs © Fore <iee o o6t 99 g8 R ot &1 IR 31eie
oY 1 o g T8 R R

Thadiel e H Towsdl a1 HiewTs Teed WaHM o idid 31l §
1000 § ek HFRTY Tl M T TG ITCT HREM! ol Gl STTUhRT STamia: T 2|

frfafea ¥ 9 fea wfafa & geme R s 9 o sitafm aiia e =

(A)
(©

J—5507

RURSIE I
(D) 3T fordlt & o | &

INERICRSIEIR (B)
31t giafd
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35.

36.

37.

38.

39.

40.

Assertion (A) : The Workmens” Compensation Act and the Employee State Insurance
Act can operate simultaneously in any organisation.

Reason (R) : The ESI is comprehensive legislation and an employee cannot get same
benefit under two Acts.

(A) Both (A) and (R) are right (B) (A) is wrong and (R)is right

(©) (A) is right and (R)is wrong (D) (A) and (R)are wrong

Who among the following is the principal officer under the ESI Act?
(A) Director General of ESI (B) Medical Commissioner
(C) An Actuary (D) All the above

Provisions for admissible deductions from wages is provided under which of the
following Acts ?

(A) The Minimum Wages Act (B) The Payment of Wages Act
(C) The Payment of Bonus Act (D) The Equal Remuneration Act

Match the following subjects with relevant schedules of the Industrial Disputes Act.

Group A Group B
(a) Matters within jurisdiction of Labour Courts (i)  First Schedule
(b)  List of Public Utility Services (i) Second Schedule
(¢) Unfair Labour Practices (iii) Third Schedule
(d) Matters within the jurisdiction of Industrial Tribunals  (iv) Fifth Schedule
@ () (© ()
(A) @) @ (@v) (i)
B) @) @D @G (@)
Q) (i) @) @Gv) (@)
(D) (@v) @) (D) (i)

The provision of ‘Protection of Persons’; given in the Industrial Disputes Act is for

which of the following reasons?

(A) For protecting the workers from accidents
(B) For protecting the workers from occupational diseases

(C) For protecting workers from union action for refusing to take part in illegal strikes.
(D) For protecting some selected workers from compulsory retirement

Which of the following is a bipartite body for dispute settlement under the Industrial
Disputes Act.

(A) Board of Conciliation (B) Labour Court
(C) Works Committee (D) Industrial Tribunal
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35.

36.

37.

38.

39.

40.

AR (A) : TSI &fayfd sAfufEm deun wH=d W o st fhet dred § T
I FAE ST Hehd T

T (R) : FHIHER T ST Teh AT A © a1 Teh HUar o stfuf=mi & siad
Teh HHM 19 & 16 T Hehall |

(A) (A) T (R) T @&l €1 (B) (A) 7Ieid € @I (R) T ¥
(C) (A) W&l § 9@ (R) TTeid B | (D) (A) 7T (R) 7Teid T |

3w o erfufram & siqia frefafeaa & @ 9 1q@ sifusd %)

(A) 3 TH TE & TRk (B) Tafrcan s

(C) T TFgaTd (D) ST® |+t

frefafaa § 9 foeg sifufem % siaia aeigd ¥ e wAfaal 1 JaeE 7
(A)  =AaH "SIl At (B) HSIgl M stffTad

(C) & E M sAfufm (D) wHH uRgfae sfufm

orfetiaa fali qen sienfiens foere srfufm w1 syl = gafaa s

(a) 9 STSTCIdl & SAMYHR H T aTel HHe () HUH STIEE

(b) SR Heei i g () fedta st

(c) oI YUl 59 R (i) T ST

() Nt feeatl o SR B 3T ol fas= (iv) e ST
@ (b (o) (d)

(A) @@ (@) (v) (i)

(B) ) @) (@) (@)

Q) (i) @) (v) ()

(D) (@(v) @) @) @

Aranfires foare stffem o safwal & o= & waue fefatad § 9 e R 9 fea ™ e
(A) THSAIR ¥ TSI T o=

(B) OIS SHIRA § HSIGY &l 941

(C) TR garell H AT T T % HROT HSIGR T i HIIaTE o HIGy bl Sl

(D) e Harfgfd ¥ = TSigy ol =M

sirentes faare stfufm & faarg &1 faem & aren e fem fefafea s a e @ ®

(A) T ARG (B) 99 siered
(C) THhY HiF (D) it feeqa
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41. Which of the following statements about the Trade Unions is not true?

(A) Registered Union shall submit returns
(B) Any two or more registered Trade unions may become amalgamated together
(C) Trade Unions can raise political fund
(D) Trade Unions do not enjoy any kind of immunities
42. Match the following :
Group A Group B
(a) Provision of Housing (i) A place for everything and everything in place
(b) The New Lanark experiment (i) The Factories Act
(c)  Provision of Safety Officer (iii) Robert Owen
(d) House keeping (iv) Plantation Labour Act
@ O © @
@) O @ @@ W)
® () O ) (i)
© (Gi) () 0 @)
D) (v) @) ) @
43. Assertion (A) : Labour welfare provisions do not have motivational value as they

come under the job context factors.

Reason (R) :  Job context factors at the best act as hygiene factors reducing the degree
of dissatisfaction but not as promoter of satisfaction

(A) (A) is right, (R) is wrong

(B) Both (A) and (R) are right

(C) Both (A) and (R) are wrong

(D) (A) is wrong, (R) is right

44. Which of the following does not relate to intra - mural labour welfare activity?

(A)
(B)
(©
(D)

First aid boxes

drinking water

educational facilities for children
provision for canteens

45. Which of the following are the agencies of labour welfare?

(A)
(B)
(©
(D)

State and Union

State and Employer

State, Employer and Organised Labour
None of the above

46. Under which legislation, provision of housing is provided?

(A)
(©

J—5507

The Mines Act
The Plantation Labour Act

The Factories Act (B)
The Dock Workers Act (D)

20



41.

42.

43.

44.

45.

46.
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Frefafad § & SF o1 abe eI TE & fore et 7 §

(A) TSiihd HSIGL H8 3T KT Toreaor s il

(B) IS < AT 31fureh TSiihd Hofgy WY U WY FHHferd & Tohd &
(C) TSI T Toiifaek — iy ffifd o Tahd 7

(D) HSIR Tl ol fohelt YR st Fraean =18 fierdt

Frfafeaa = gafaa st
(a)  SATETE 1 TEHH (i) Tk a5 o T 68l T T Y& o] |l TH W
(b) &= e T (i) RS U
(c) | 3fHehid 1 greaEH (iti) T e
(d) T i (iv) WIe¥M TeR UaR
@ (b) (o) (d)
(A) @ @) (@) (iv)
B) @@ @) (Gv) (i)
© (@) @) @ ()
(D) (v) (i) @) @)
AURYT (A) :  THIS FHEA WHHH! B SAIROMHSE o T eral Fifch o H-UrHfieh

HRI & A T §

FE - YT hRE SAfHh-T- Y TETH FRb & €9 H B
Hohd & 11 STHGT % T hl HH B ohdl & T TS & TR hl 9¢1 T&l Fehd
(A) (A) §& %, (R) TTed B (B) (A) eI (R) S &&t ¥

(C) (A) 7T (R) SHI Terd | (D) (A) 7TeTd © (R) W& 1

T (R) :

Frefafea & @ oF @1 ' Sg-wra’ gfies sweam Bhamekar @ Heifta T2 §
(A)  Trfhes faferean dso (B) I A
(C) =i & feru dferew gasmd (D) A T FIEEH

FrrAferfad & & i 4 soar s T TSiE! / it €
(A) TF q1 & (B) T aun fdiht
(C) T3, FreT qen wwfed gfhes (D) STE | | HFE &

Trefefea o @ e rfafrem o stemes o geue foar = g
(A T& Hed e (B) fe Ryt
(C) T& =i oot TR (D) f& =i ook T

P.T.O.



47. Assertion (A) : Inter - Industry and inter-sectoral wage differential are bound to exist
due to technological, product and market differences.

Reason (R) : It is not essential that skill differentials shall be considered important
for wage differentials.

A) (A) is right, (R) is wrong
B) (A)is wrong, (R) is right

) Both (A) and (R) are right
D) Both (A) and (R) are wrong

48. Match the following :

Theory
(a) Subsistence theory of wage
(b) Wage - fund theory
(c)  Surplus value theory
(d) Marginal Productivity theory

@ (® (© ()
(A) Gv) @ ) (D)
(B) () (@v) @ @)
© @O @ 3§ @)
(D) Gv) (@) (D) ()

49. Any employer who is unable to pay
(A) Fair wage
(C) Living wage

50. Minimum wages are fixed by :

(A) Trade Unions
(C) Appropriate government

J—5507
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Contributor
Karl Marx
J.B. Clark
David Ricardo
Adam smith

to workers has no right to exist:
Minimum wage

All the above

Employers

Court of law



47. AfueRed (A) : UEIfiTwE, e T SR RE@etl % heesd 3id - SER a9l S -
& Aigdl fadgsh fe=r 2 formm 8 |

T (R) : g 1famd 1 € for Aol fasieenl & ford garan - faseenl &t weerqol A
IR

(A) (A)FE T (R) Terd € (B) (A) oW 2, (R) W& ¥
(C) (A) T (R) T Tt €1 (D) (A) T (R) ST TTord € |

48. TrAfafEa =1 gafaa sifs

fagia wfaurges
(a) Hioaed Il oh o5 (i) <RIt e
(b) o - wUe forrd (i) SISt FlTeh
() TwH Iy ford (iii) <fae fewret
(d) wiSHa Yrefwrfd (iv) 3TeH fEy
@@ (b) (o (d)
(A) @v) (1) @) (i)
(B) @i (@(v) @) (i)
© @O @) @) ()
(D) (v) () (D) (D)

49. TH fET A 99 WA A AFRR T 7 S weIgy - 1 T T&I L I |

(A) =rErfad 7SIy (B) A HSIGY
(C) i — A weigd (D) SWb @ft

50. fr=Taw oeigd foheh g1 @3 &t St ©

(A) TSI GH (B) HHERNTOI
(C) HeI¥d TR (D) =
-00o0-
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